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MULTIPLICACIÓN UNIDAD SEGUIDA DE CEROS 

 

1.- Completa: 

 

15 x __________ = 1.500 

 

275 x __________ = 275.000 

 

__________ x 1.000 = 23.000 

 

__________ x 10 = 67.320 

 

__________ x __________ = 4.700 

 

__________ x __________ = 31.000 

 

__________ x __________ = 54.000 

 

 

2.- Pedro ha comprado 6 bolsas de caramelos. Si en cada bolsa hay 10 caramelos, ¿cuántos ha 

comprado Pedro? 

 

 

 

 

 

 

 

 

3.- Multiplica: 

 

3 x 100 

 

345 x 1000 

 

16 x 1000 

 

15 x 10 

 

2.346 x 100 

 

21.569 x 10 
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